
12

11

INSTALLATION MANUAL

Motorized TV Mount

50kg
(110lbs)

RATED

Use with products heavier than the rated weights indicated may result in instability causing possible injury.
Please closely follow the assembly instructions. Improper installation may result in damage or serious personal injury.
Safety gear and proper tools must be used. This product should only be installed by professionals.
Make sure that the supporting surface will safely support the combined weight of the equipment and all attached hardware and components.
Use the mounting screws provided and DO NOT OVER TIGHTEN mounting screws.
This product contains small items that could be a choking hazard if swallowed. Keep these items away from children. 
This product is intended for indoor use only. Using this product outdoors could lead to product failure and personal injury.

Ensure that you have received all parts according to the component checklist prior to installation. If any parts are missing or faulty, contact your place of 
purchase for a replacement.

Check that the product is secure and safe to use at regular intervals (at least every three months).

200x200/300x300
400x200/400x400
600x400

65" 
MAX

1

2

Instructions of Safety and Warnings:

Notifications:

Disposal: 
The product with this mark indicates that this product shouldn't be disposed with other household wastes 
throughout the EU. To prevent possible harm to the environment or human health from uncontrolled waste 
disposal, recycle it responsibly to promote the sustainable reuse of material resources. To return your used 
device, please use your local recycle service or contact your point of purchase to withdrawn the product.

·

·Any Incomplete Observation of the Instructions, Warnings and Additional Information Marked with the "Note" Symbol may Result in 

    Serious Damage to the System or its Components.

·This Product can be Used by Children Aged from 8 Years and above if They have been Given Supervision or Instruction Concerning 

Use of the Appliance in a Safe Way and Understand the Hazards Involved. Children shall not Play with the Appliance. Cleaning and User 

Maintenance shall not be Made by Children without Supervision. 

·Persons with Reduced Physical, Mental Abilities and or Lack of Experience and Knowledge must not Use the Product, unless They're 

under Supervision, Understand the Hazards involved or they have been Thoroughly Instructed in the Use of the Apparatus by a Person 

who is Responsible for the Safety of these Persons. 

·Users should Make Sure that They Never Lean against the TV Mounted on the Product in Order to Prevent Serious Bodily Injury. 

Any Failure to Comply with the Safety and Installation Instructions in this Manual may Cause Serious Bodily Injury.

Unplug if doesn't use the System for long time and Place the Power 

Plug out of Children Reach.

This motorized TV lift consists of a heavy-duty mounting bracket and a powerful lifting system. Please read and completely 
understand this manual before installation in order to make sure the safe and correct use of the system and maintain the 
longevity of the overall construction and the built-in electronics.

Electrical Safety Instructions

The product is powered by electricity. In order to avoid burns, fire and electric shock, please read the instructions carefully.

·Don't clean the product while the power is still connected.

·Don't disassemble or replace components while the power is still connected.

·Never operate the system with a damaged cord or plug. Please contact your point of purchase to replace the damaged parts.

·Never operate the system if it's in moist environment or its electrical components has contact with liquids. 

·Alterations of the Given  and Remote Control aren't allowed. 

·Outdoor use is prohibited. 

Control Unit If either of them is missing or faulty, contact your place of 

purchase for a replacement.

Please check all of the components shown in the component checklist. If any of the components are missing or damaged, 
contact your point of purchase for a replacement.

Other Safety Instructions

·

·Don't leave the cords or plug unorganized in order to prevent tripping hazards.

·Any attempts to reconstruct the construction aren't allowed.

·Don't add anything to the opening of the product. 

Clear up all obstacle within the range of motion.

STEP1: When the motorized TV lift is powered on, press and release the button inside the 
control box as shown. It will beep once. After that, the remote control and the control 
box begin to match. (This process will take at most 10 seconds)

STEP2: Press and release       button on the remote control, then you will hear beeps. Wait 
               for 10 seconds until hearing the final beep, the matching will complete and exit the 
               program. Now, you can control your TV lift directly from the remote control.
    Note: Before matching a different remote control, the previous data need to be cleared. 
               Press the button inside the box again as shown for 10 seconds until hearing a beep.

Remote Control Operation Instructions

A. Match the Remote Control with the Control Box

B. Introduce Button Function

Upward movement
Press until getting the desired position.

Downward movement
Press until getting the desired position.

To set a memory
Press for 3 seconds until hearing a beep.

To quick get to the memory position 
Press and release.

(mem1 is corresponding to 1, 
mem2 is corresponding to 2)

Reset mode
Press for 3 seconds until hearing a beep. 

Beeping twice indicates the process is finished.

To get back to initial position
Press and release.

If need to stop, press again during the process.

Note: Attach TV with the column adjusted 
to the lowest position.

TVSM5830BK 



A

B

1

G

A

F

F

8

ø 3mm
(ø 1/8") 

15mm

0.6”( )

15mm

(0.6”)
7

J

J

1

2

J

10b

10a

TV

TV

M-F

M-C
M-D

M-F

M-E

M-G M-H

M-F

M-A

M-F

M-B

2

ø 3mm
(ø 1/8") 

15mm

0.6”( )

15mm

(0.6”)

6

L
DO

1

43

A (x1)

M8x50 
M-E

(x4)

M-F (x4) M-G (x8) M-H (x8) 

M8x30 
M-D

(x4)

M6x30 
M-C

(x4)M6x14 
M-B

(x4)M5x14 
M-A

(x4)

5

2
L

O

L

C

O

9

H (x1)B (x1) G (x1)D (x1)

J (x16) 

C (x2)

K (x2) 
M6x12 (x12)

LI (x1) N (x4)
6mm 

P
(x1)

S (x1)
M10x20 (x4)

M

F (x2)E (x1)

Q (x1) R (x1)

Note: 
In order to avoid collision and 
wire pulls, keep the control box 
and all cables away from the TV lift.

1

2

H

I

3

R

4mm 
O

(x1)

Note: Match the remote control with the control 
box for the first use.

s

J

K

Q

M

P N

1

2

≥50mm

≥50mm ≥50mm

≥
1

0
m

m

WARNING!

Please prepare a proper cabinet before installation.


	页 1
	页 2



